
Multiply by Negative Powers of Ten (D)Find each product.
5.17 × 10⁻² = 8.87 × 10⁻¹ =
1.878 × 10⁻² = 5.7 × 10⁻² =
9.96 × 10⁻² = 8.5426 × 10⁻³ =
3.775 × 10⁻¹ = 9.54 × 10⁻³ =
1.64 × 10⁻³ = 1.9 × 10⁻² =
7.741 × 10⁻³ = 2.7 × 10⁻³ =
0.4 × 10⁻² = 0.4 × 10⁻¹ =
6.61 × 10⁻¹ = 4.596 × 10⁻² =
0.9 × 10⁻² = 6.77 × 10⁻² =
2.4504 × 10⁻² = 5.053 × 10⁻³ =
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Multiply by Negative Powers of Ten (D) AnswersFind each product.
5.17 × 10⁻² = 0.0517 8.87 × 10⁻¹ = 0.887
1.878 × 10⁻² = 0.01878 5.7 × 10⁻² = 0.057
9.96 × 10⁻² = 0.0996 8.5426 × 10⁻³ = 0.0085426
3.775 × 10⁻¹ = 0.3775 9.54 × 10⁻³ = 0.00954
1.64 × 10⁻³ = 0.00164 1.9 × 10⁻² = 0.019
7.741 × 10⁻³ = 0.007741 2.7 × 10⁻³ = 0.0027
0.4 × 10⁻² = 0.004 0.4 × 10⁻¹ = 0.04
6.61 × 10⁻¹ = 0.661 4.596 × 10⁻² = 0.04596
0.9 × 10⁻² = 0.009 6.77 × 10⁻² = 0.0677
2.4504 × 10⁻² = 0.024504 5.053 × 10⁻³ = 0.005053
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